AL

(A5 528 0]A]] a*——> z & T4 zylz—3)(x—4)9].

515 @ ]2 AL old-Hafslole)
(1) a’ (22 —3y)+b°(3y—22)

@ y— 7%+ 122y

B0l THSE Foldl F Bt

2

@ o’ (22— 3y)+b6°(3y— 2x)=a’ (22 — 3y) — b° (22 — 3p)
= (2z—3y)(a®>—b*)
=(2z—3y)la—b)la+b)

@ y—71y+120y=zy(z* — Tr+12)= 2y’

3Hr—4)

[A5EA Fol B A 3129 0]x] —5 ——> 5 & FH: z=59.

UAIIEA Z0|

=N @ c=—1 (3J$=_%
@) 2=—1 ® 21— © s=22
== @ z=1 B 2
() =7 ) Izz @) m=—%




	공학도를 위한 기초수학-수정(2023-9) - 업로드용
	개요
	 
	 수정사항
	 
	 [제5장 52페이지]  -->  로 수정: 임.
	 
	 [연습문제 풀이 및 정답 312페이지]   -->  로 수정: 임.
	 



